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TEACHING METHOD

(2) Emotion

(1) Imagination
(4) Thinking

Factors affecting the social development
. of children are

(1) Physical elements
(2) Social environmental elements
(3) Economic elements

(4) Hereditary elements

‘Which of the following is a primary law
of Physical Development ?

Law of rapid growth
) Law of irregular development

3) Law of difference from mental
- development

Law of relation from imagination
and emotional development

. Which of the following is not the theory
_of development ?

(1) Theory of Interrelation

. (2) Theory of Continuous Growth

"~ (3) Theory of Conditioned Reflex

i (4) Theory of Uniform Pattern

i 5. “Development results in new
: characteristics and new abilities” ‘this
statement is given by

(1) Meredith
2) Hurlock
(3) Gessell

(4) Douglas and Holland
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8.

9.

10

11,

Through his experlment Kohler wanted
to prove that learning is !

(1) Better in animals than human
beings

(2) An independent act1v1ty
(3) The perception of whole situation
(4) Human learning is purpos'efult

Wwho propounded Five Step System of
lesson planning ?

(1) Kilpatrick

(2) Herbart _

(3) John Dewey

(4) Bloom

Who descr1bed dlfferent types of
personahty based on Glands from the
following ? - g
(1) Cannon

i (2) Jung
(3) Kreshmer

(4) Sprangar

‘Creat1v1ty is ‘a mental process to
express the or1g1na1 outcomes — the
statement is of | :

(1) Dehan Al

(2) Drevahal ;r,f 0 ,\f-v;.,l;_,,f.,f
(3) Cole and Bruce '
(4) Crow and Crow i 4

Accordmg to B F Sklnner language
development in ch11dren takes place
(1) As an: outcome of imitation and

remforcement ,
(2) As an outcome of matur1ty

(3) As an outcome of inborn

capability Ef:
(4) As an outcome of training in-.

grammar

S ; . ¥
Instincts are Cla551ﬁed in fourteen

typesby . o L
(1) Thornd1kc (2) McDougall ’
(4) Woodworth !

(3) Drever |
i [PTO
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ntration of
bject rather
ment is

‘Attention is the conce
Consciousness upon one O
han upon another’ this state
Telated to

(1) Munn

(2) Ross

(3) Dumvile

(4) MCDOugaIl

~ Whose name is associated with ‘F ather
. of the Eugenics’ from the following ?

(1) Ross

g ; (2) Galton

14.

Crow and Crow
Woodworth

‘Which test is propounded by

. 3'Dr. S. Jalota in Hindi for the children of

12 to 16 years ?
(1) Army Alfa Test

(2) General Mental Ability Test

43) Non-verbal Intelligence Test
i :“n‘:‘::f-f(4) Picture Drawing Test

15,
' Theory’ of intelligence ?

‘Who propounded the ‘Two Factor

o (1) Vernon

(2) Spearman

/ () Thorndike

16.

17.

(4) Stern

Giving meaning to sensation on the
basis of past experience is called

(1) Memory
@) Perception

1(3) Imagination

(4) Thinking

Who has propounded the law of trial
and error of learning ?

(1) Thorndike (2) Paviov
(3) Kohler (4) Gestalt
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18.

[ 19

| 24.

. Level of average intellige
ch11dren will be betWeen gence
4) 90-109

80 - 89
% 70 - 79
(4) 110-114

Who among the following has proposed
Fluid Mosaic Model of Intelhgence ?
(1) Vernon

42) Thorndike

(3) Cattell
(4) Skinner

Operant Conditioning Theory is
propounded by

(1) Hegarty. (2) Thorndike-
(3) Hull (4) Skinner

Blue print is an 1mportant component
of which of the following ? :
(1) Test administration.

(2) Test validation

(3) Test construction

(4) Test scoring -

Pre-operational stage is the stage of
~development proposed by

(1) Kohler ' (2) Piaget

(3) Bruner (4) 'Skinner

M.P.P.L is a test used to measure which
of the following ?

(1) Achievement

(2) Intelligence .

(3) Personality

(4) Creativity

Which of the follow1ng is most essentlal
for learning ?

(1) Maturation (g ) Interest
(3) Motivation (4) Guldance ‘
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25,

26,

27.

The period of infancyhood is

(1) From birth to 6 years

(2) From birth to 2 years

(8) From 12 years to 18 years
(4) Upto 15 years

Kohler is associated with which of the
following ?

(1) Theory of Personality
(2) Theory of Development
(3) Theory of Motivation

(4) Theory of Learning

According to McDougall the number of
instincts are

(1) 12

) 14
Jr(3) 15
@ 10

'2'8‘.:_“.,Brainstorming Model of Teaching is
' used to improve which of the following ?

‘ ( Creativity

(2) Application

(3) Understanding
. (4) Problem solving

- 29.

30.

‘Dog’ was the experimentee in whose
experiment ?

' (1) Thorndike

(2) Pavlov
(3) Skinner
(4) Kohler

Originality, fiexibility and flow are the
components of which of the following ?
(1) Personality

(2) Creativity
(3) Intelligence
@) Motivation-
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The meaning of the idiom
“o put out” is
To extinguish
(2) To wait
(3) To postpone
(4) To go out

i

which I was born”, is
3} A simple sentence

63. Fill in the blank :
‘The objection was met out

64, Fill in the blank :

«

went home”,
(1) Having tired
(2) On tiring ‘
43 Being tired

(4) While tiring

©8. Join the following sentence to

simple sentence :
awake,
keep us awake,

not keep us awake.,

us awake,

keep us awake,
Paper - 1/B

(2) The coffee isn't too strong &
{3) The coffee isn't too strong ©

(4)‘ The coffee isn’t too strong 2

2. The sentence : “'This is the hOuse i

(1) A complex sentence A i
(2) A compound sentence . ./

(4) A compound -~ complex sentence.;_

the lawyer’.
(1) by 12’)’ tb e

@) with (4) ,fr,om__' b

of playing, the ch11dren |

make a

The coffee isn't too strong. 1t won't keep

4E; The coffee isn’t too strong soit won L

d will
kegp

509-5t 2

66. what kind of adjectives are used {4 ¢
following sentence ?

A live ass is better than a dead lion,
(1) Indefinite -~ -~
(2) Quantity
Descriptive
(4) Quality

he

67. Which of the following has been
misspelt ?
(1) governence
(2) ambiguous
A3] deciduous
(4) entrance

68. Pick out the correct synonym of the

word :

attenuate

(1) divide (2) force

A3) repent (4) make thin

69. Pick the sentence with the correct
conjunction :
{1} No sooner had we reached the

station when the train left.

(2/N0 sooner had we reached the
station than the train left.

(3) No sooner had we reached the

' station but the train left.

(4) No sooner had we reached the
station and the train left.

70. Pick out the suitable antonym-of the
glven word : .
judicious
(1) silly
(2) sagacious

43 imprudent

(4) careful

[P.T.O..
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Direction —Read the Passage below and ans78)
the QuUestions that follow (Q. No. 7;.1 to'
by selecting the most appropriate option -

The children of M. G. Vidyalaya, l?ad 2
Wwonderful time yesterday. They were Capu‘./ate f
by the speed, agility and showmanshiP CZi
‘nagician, Kim Rathod. The children watche
him spell-boungd for two hours. All that broke
the silence was a gasp of astonishment 0 the
Sound of spontaneous applause, appreciating
a trick. Out of hijs magic wand came flowers,
ribbons and garlands of every possible colour
and seemingly unending length. It came in
such quick Succession that everyone was left
gasping. One or two young children came
UP to examine the thin stick wondering
how it could hold so much. They were really
frustrated. As if that was not magical enough
he made a rabbit Pop out of an empty wooden
box. It went hopping around the stage. It was
Soon put back into the box and seconds later,
he pulled out a rat, soft, white and squeaking,
The little ones seemed a little frightened by
this, while the others clapped and cheered
loudly. This was the grand finale,

The children did not want it to end, They
shouted ‘encore’, ‘once more’, But Kim gave
them a bright smile and vanisheq from the
scene. The children were left searching here
and there for him. Then they walked oyt
excitedly recounting what they had seen and
how wonderful it was. One of the boys Rayj
declared loudly, it was the best magic shoy
of the century.

What does ‘encore’ mean ?
1) Once more (2) Try
(3) Never (4) Now

71.

What did Kim do in the enq 7

(1) Never performed the tricj
A2}y Smiled and disappeareq

(3) Performed the act once again
(4) Sat down

72.

Paper — 1/B

10

73.

74,

75,

76.

77.

78.

79.

80.

What does ‘Century’ denote ?
(1) A period of fifty years

(2) A period of ten years

(3) A period of one year

A1 A period of hundred years

What is the magician’s name ?
{¥) Kim Rathod

(2) Ravi

(3) M. G. Vidyalaya

(4) Kiran Rathod

What is the meaning of ‘captivated’ »
(I) Arrested (2) Honoured
(3] Astonished (4) Angered

What is the meaning of ‘spontaneous’?
(1) Never

(2) Always

(3) Happening suddenly

@ Continuous

What is a ‘Wand’ ?
{¥) Hat (2) Cloth
(3) Stick (4) Box

What is the meaning of ‘hopping’ ?
(1) Standing (2Y” Jumping
(3) Running (4) Singing

Complete the following sentence with
correct Conjunction :

he had not paid his bill
his electricity was cyt off.

(1) Unless 421 Either
(3) But (4) As

Choose the correct figure of speech it
the following Sentence :

Death lays hig icy hand on Kings.
(1) Apostrophe

(2) Personification

‘ Metaphor

(4) Simile



L
%? choose the proper sequence to complete
8 B .

82.

83.

84,

Paper - 1/B

The proper sequence should be :

@ PSOR

#ﬁﬁﬁb$

@ RQPS

@4 RQSP

Give the meaning of the following
proverb ;

A bird in hand is worth two in a

bush.
It is better to be satisfied with what
you have than to try to get what is
not yours.

(2) To be dissatisfied with what you

have.

(3) To catch two birds with your
hands.

(4) To trap birds in bushes.

Choose the correct option to complete
the sentence :

I him since we met a year
ago.

(1) hadn’t seen
(3) didn’t see

2y haven't seen
(4) not saw

Fill in the blank with suitable Pronou? *.
My son and my daughter are very fond
of o~ . . :
AN themselves
(2) each other

(8) herself )

(4) himself

85.

87.

88.

89.

90.

which of the following is an example of

MetaphoT ?
M The bitter-sweet memories of
childhood are a source of great

pleasure.
The face of the child is as soft as

(2)
the petals of a rose.

(3) He is a big donkey.

(4) My heart leaps up when I behold a
rainbow in the sky.

choose the correct option :
study of population is known as

) Demography (2) Astronomy
(3) Ecology (4) Genealogy

Transform the following into a Direct

sentence :
1 asked Sheela if I might know her

father’.
[ asked Sheela, “Can I know your

father ?”

(2) I told Sheela, “May I know your
father ?”

(3) Isaid to Sheela, “May I know your
father ?”

(4) I questioned Sheela, “Will I know

your father ?”

The idiom ‘To ring one’s own bell’
means

(1) to commita theft

42) to be one’s publicity agent

(3) to think properly

(4) to indulge in self praise

Who are the earliest known inhabitants
of Antarctica ?

(1) Dinosaurs

(2) Indian Scientists

(3) American Scientists
{4Y It is has always been a desert

Which of the following words is an
Adverb ?
(1) Meek
(3) Apace

(2) Face
4y Fury

[P.T.O.
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A A= d Yy -a R e 2

A
F E
B D C
(1) A DEF 1 &% = %AABCW
PRI
(2) A DEF i 8%d = = A ABCH
SRl 2

(3) A DEF 1 8% = A ABC 31 &et
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(3) T (4) =
Paper- 1/B
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91.

92.

93.

D, E, F are respectively the mid

pomts of A ABC. Which of the

following statement is correct ?
A

B D C

(1) area (A DEF) = - area (A ABQ)

(2) area (A DEF) = L area (A ABC)

(3) érea (A DEF) = area (A ABC)

(4) area (A DEF) = -} area (A ABC)

If Arithmetic mean of a given data
is A, Geometric mean = G and Harmonic
mean = H, then

(1) Ax2Gz2H (2) ASG<H
(3) AsG=H (4) A2H2G

The difference and the product of two
numbers are 5 and 36 respective ly.
Then the difference of their reciprocals

is

5 31
W 3 @ 36
5 o]
3) =
(3) e (4) =

"



AN ey
(1) AT TS
Ik
(3) HEVE : .
(4) TR .
gs, PR R A1 i T 71 260 660 e
o T TEER SIS T T R | o e o
S 11 m ?, T S0 o0 T Svemy
(1) 100 m? ;A
(2) 150 m? o
(3) 200 m? |
(4) 75 m?
96. R 10% = 125 &, Al 10-2* 1AM Bm
1 (3
(1) 25 (2) 25
1 1
(3) s 4 o=
97. 16075 I TRl e @ Wi S W HH
167 qT e 43 WIS BT 8, 7w &
(1) 96 (2) 56
(3) 76 (4) 86
98. 503 BN o qurtent F areTeel 1 HeA 8
(1) 16 (2) 15
(3) 14 4) 25
99, 3 sirsit & & wdt v A O A0 |
%ﬁ‘rﬁruﬁﬁsw%awa@ﬁ@%ma}
T st o A 718
et = § 7 o
(1) 14,5 (2) 11,9 (S
3) 43,8 (4) 17,1
Paper - 1/

A
ﬁﬁ mgﬁ%wﬁﬁﬁmﬁnﬂ%

94,

95.

14 P
i
b
t 96
f .

97,

98.

99,

Who was the self taught Indian
mathematical genius in 20% century ?

(1)
(2)
(3)
(4)

Srinivas Ramanujan
Shridharacharya
Aryabhatta

Harish Chandra

The area of four walls of a room is
660 m? and the length is twice its
width. If height of the room is 11 m,
then area of its ceiling is

(1) 100 m?

(2) 150 m?

(3) 200 m?

(4) 75 m?

If 103 = 125, then value of 10=is

1
(1) e
(3)

1 4 =
s (4)

(2) 25
25

16075 is divided by a number to give
quotient 167 and remainder 43, then
divisor is
(1) 96
(3) 76

(2) 56
(4) 86

The number of positive prime integers
< 50 is
(1) 16
(3) 14

(2) 15
(4) 25

Twice the larger of two numbers is three
more than five times the smaller and
the sum of four times the larger and
three times the smaller is 71. What are
the numbers ?
(1) 14,5

(3) 43,8

(2) 11,9
4) 17,1

[P.T.O.
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(1) 6cm
(2) 8 cm

| 101. 3fe

1992 =l GATE I B -a1 &= & ¢
it (1) TRET (s7Ew)

i (2) dwEw

(3) wiffam

(4) HTEER
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100. A square with a side of 8 cm anqg a

. &atP+Cqggmerm | 101,

bl 102. IR 5vHe 1991 M wfawen, @39, | 102.

103.

rectangle with length 16 cm hay,
same area. What is the breadth of the

rectangle ?
(1) 6cm
(2) 8cm
(8) 4 cm
4) 12cm

%, then value of 2*P+c
c

January 5, 1991 was a Saturday,
what day of the week was on
March 3, 1992 ?

(1) Sunday
(2) Monday
(3) Saturday
(4) Tuesday
178 1y 18

s [37"-2)°}-2,

R
() 64

S
2) =2
@) 24
(3 1L

q

1 .
4) —
(4) T



104.

105.

106.

107.

108,

Paper - 1/B

1 T T T S 6 o
(1) 6.5 o, 105 Ty, 391;;:3‘"@%
2) 3.5, 9.2 9, 5.3 duy

@3) 63, 39, 3 I
@) 6.3 ¥, 5.9 8, 4.6 Ak

J3, ¥4, ¥5 1 3 s i
T |

(1) ¥5,%¥4,V3
@) ¥a,3,%5
3) 3,¥4,%5
(4) T & IS TG

uﬁfﬁ%ﬁa¥gamsﬁqq§a7§ﬁtfm;q
%%,H‘IWﬂmaﬁuﬁm% iy

(1) 33_;-%€Tﬁ
33%%3@

33 Lo, e
3

(2)
(3)

) 33%%@1

121012 FY 12 F T A T, o 8
(1) 3

(2) 2
3) O
4) 4

(
THTS T 3k BT
(1) 2
(2) 8
3) 6
(4) 4

il
578 x 236 x 450 x 312) F T

104.

105.

106.

107.

108.

To construct a triangle, the possible
sides are

(1) 6.5 cm, 105 mm, 39 mm

(2) 3.5cm, 9.2 cm, 5.3 cm

(3) 6cm, 3 cm,3cm

(4) 6.3 cm, 5.9 cm, 4.6 cm

Arrange V3,¥4,45 in ascending
order.

(1) ¥5,%4,43
@) ¥4,43,45
3) +3,¥4,%5

(4) None of these

If cost price of an article is 3 ofits

selling price, then profit or loss
percent is

(1) 33Loyloss
8

33 l 9%, loss
3

33 %% profit

(2)

(3)

(4) 33 _;_% profit

When 121012 is divided by 12, the
remainder is

(1) 3

(2) 2
3 O
4 4
Digit of unit place in the product of
(378 x 236 x 459 X 312) is "
(1) 2

(2) 8

(3) 6

(4) 4 ;
'[P.T.O.
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109.

110.

111.

112.
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ﬁqmmmwaﬁm.s%,m@‘“m
E IR U

57,7,8,%5 4312

(1) 5

() 6

(3) 5.5

(4) 4.5

w@ﬁﬁ‘ﬁwmﬁﬁw’mﬁﬁﬁﬂ
T 99 R

(1) <=<™

aﬁaaﬁﬁmﬁ@maﬁa@%aﬁ@ﬁﬁ
oo gera e, A Fele W o - AT
TR e © ? '
(1) wied SR FETH

(2) e, HTEaeh I TgH

(3) WIEd ST HTETH

(4) wgeTh AL HTETH

5cmm@aﬁ@m%w‘mﬁmi—qm
TR | AR T 1 cm® AT U H HrE ST R,
A 1 cm?® TS TR ST H Herel T 8 Herer T
TR 7
(1) 42
(2) 27
(3) 142
(4) 54

22

109.

110.

111.

112.

What will be the median of the given

data if the mean is 4.57
57,7,8 % 5,4, 3, 1,2
(1) 5

(2) 6

(3) 5.5

(4) 4.5

ortant person, related wit
‘Analysis of Variance’i

Most imp
the method of

Statistics

(1) Laplace

(2) Gauss

(3) R.A. Fisher

(4) Newton

Which measures of central tenden
get affected if the extreme observatio:
on both the ends of a data arranged
descending order are removed ?

(1) Mean and Mode

(2) Mean, Median and Mode

(3) Mean and Median

(4) Mode and Median

A cube of side 5 cm is painted on all.
faces. If it is sliced into 1 cm?® cub
how many cubes of 1 cm?® will ha
exactly one of their faces painted ?

(1) 42
2) 27
(3) 142
4) 54
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(1) 360°

) 180°
3) 450°
(4) 540°

4, TR %m#ﬁgﬁu‘m% | 63

U %mw@mw%,;ﬁqmwﬁ;_
g Me w1 @t Tt W P R |y

ot o = e ?
(1) 30 X (2) 25 ™=
() 21 #H& (4) 12 =

5. AsikBRrdtEm w12 RAdww Bk
CadiwmE 15 Rad ww@ ¥ | C AT
T w20 R F e & | A RS S FHA
R i s g 7
(1) 30f=
(2) 20 s
8) 10fm
(4) 40 R=

15, 14 42 21
33'55' 922

(1) 330

7

17
330

B 7
330

(2)

330
17

(4)

ey

113.

| 114,

115.

| 116.

Find the sum of all the interior angles
of a pentagon.

(1) 360°
(2) 180°
(3) 450°
(4) 540°

4 of a pole is in the mud. When éof
7
it is pulled out, an 8 meter long piece of

the pole still remains in the mud. What
is the total length of the pole ?

(2) 25 metre
(4) 12 metre

(1) 30 metre
(3) 21 metre

A and B can do a piece of work in
12 days, B and C in 15 days, C and

" A in 20 days. How long would A take

separately to do the same work ?

(1) 30 days B 6|° C;‘
: 5 :
: Y S
(2) 20 days % 40 K
(3) 10 days .,
(4) 40 days
14 42 21
HCF. of —,—1=—
CF.of 33'55'22

(1) 330

7

17
2) —
@ 330
@ _7_

330

330
4
) 17

[P.T.O.
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117.

118.

119.

120.

(7 +2V10) = wiger
(1) (V2++5)
(2) (V3+2)

(3) (JE+ 1)
@) (2+v5)

T 7 391 e g By A o @3‘4’"&“3
¥R By Ao g 44 em A E, W
T =1 ftmT == i 7

(1)

16 cm
9

(2) 1_96_ (_\45 +1] cm

(3) 6—2— cm

(4)

fr=faRaa & & - g= 99 | Ry
e R 7

(1) 913462

(2) 185792

(3) 114345

(4) 3572406

nEd?
(1) v wEan

12) smﬂﬁuzhgn

(3) uRAg =
(4) worten

f -,:L?apgr‘— 1/B

24

117,

118,

119.

120.

w

Square root of (7 + 2\/1—0-) is

(1) (VZ++5)
(2) (J'é+2)
(3) (V6 +1)
(@) (2++5)

A square and an equilateral triang,
have a side in common. If side of triange

is 4/ cm long, find the perimeter of the
figure obtained.

16 cm
9
1_6_ i§_+l cm
9 4
6gcm

3

sicm
3

(2)

(3)

(4)

Which of the following numbers is
divisible by 99 ?

(1) 913462

(2) ‘135792

(8) 114345

(4) 3572406

Whatis n ?
(1)
(@)
(3)
(4)

Prime number
Irrational number
Rational number

Integer
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22. mﬁ‘mm’mmmﬁ
(1) 19817%. (2) 1973%.
(@) 1972%. (4) 19857%.Hae
123. mmmm%mmﬁ@mg? |
(1) afrerrg .,
(2) A WA ?i-":_:ﬂ
(3) ufREm @
(4) T
24, mmshm(lgls)mit%mmm?”
(1) RRwawddi e |
(2) ft= 3 gfRm&aa
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; 122,

123.

=V PART \'
RONMENTAL STUDIES

121 The Pole star is
(1) East star

(2) South star

4 48] North star
(4) West star
‘Project Tiger’ was started in India
(1) 1981 A.D, (2) 1973 A.D.
ﬁ?“)/ 1972 A.D. (4) 1985 A.D.

Kanha National Park is Iocated in Wthh
Indian State ?

(1) Tamil Nadu

(2) Madhya Pradesh .
13) West Bengal

(4) Gujarat

124. The Lucknow Pact of 1916 was made

between

ol (1) The British and the Indian

A2) The Hindu and the Muslims
(3) The Congress and the Mushm
League
(4) The Moderates and Extremists

Use of carbon for writing on wh1te

25, ST YRR ST STWATUA el & 7 Where is the Wild Ass Sanctuary P
(1) Wy Ry H ; } (1) In Madhya Pradesh '
T el 2) In Gujarat
(2 ﬁ ol ‘JL*" ‘_3 ( J
(3; TR o - |l 43 InRajasthan
Q b, ‘U“‘— lA._l: 4_ .
(4) foemd @i ¥ InBihar
26, e 2 gefila o _H!f Z Carbon dating refers to
)
3

(1) ﬁamv%@ﬁ%%ﬁwmmﬂ

2) Ww@ﬁﬁ%‘g@ﬁmmﬁﬁa‘*
3TY Ao

(3) Tz it wifFd AT

o~

board

Measurement of age of bones or,
materials in ancient sites

(2)

Measurement of strength of rocks

(3)

(4) Famh

)
per-1/B

{4 All of these

[ P.T.O.
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128.

129,

130.

131.

V("-ll'}d‘ ‘. = !‘ M

(1) 218 1949

(2) 24 swai 1950
(3) 20 S al 1950
(4) 13 F9RR 1949

AR e 2

(1) g g o & amerr 3 gf

(2) Sfar % amer & gfg

(3) THY % wry Suek & Ryl ared o gl
B IEG)

(4) ¥ ash

ﬁw%fﬁaaﬁ%ﬁqéwamﬁﬁmm
qER?

(1) =3 (2) Tar

(3) wiEm (4) tﬁmﬁm

T T STARH 1 HeTer et
(1) t=esad

(2) Taehid

(3) =arhH

(4) ATTETR A

1 3 @ et i T se-
Haiftrs g 7 T
(1) feewd
(2) T TRYH

217/ B
26

;130 The headquarter of Green Peace

132.

- Rt 7l

127, The Constituent Assembly adopteq

National Anthem on
(1) 21 May 1949

A2y 24 January 1950
(3) 20 January 1950
(4) 13 November 1949

128. Biomagnification is

(1) toincrease the size of picture using
computer ]

(2) increasing size of organism

(3) increasing concentratlop of a
toxic substance in the tissues
over time

{47 all of these

.129 Which of the following is not a ablotxc

component of biosphere ?
(2) Soil
(4) Phospho

(1) Fungi

}3)/ Protein

International is located in
(1) Amsterdam

(2) Sydney

{3] New York

(4) Nagasaki

131. The problem of water pollutl n with

Arsenic is maximum in
41} Bihar :
(2) Madhya Pradesh
(3) Uttar Pradesh

(4) West Bengal

Deccan of the
is drier becaus

(1) rain shad
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(1) aﬂﬁf?aw
(2) ﬁﬁiwf
437 gata

(4) wmm

(1) 3 &

(2) W%@
(3) AT

(4) ‘LWWW

136, aafﬁméa%ﬁwwﬁ maﬁ%
(1) 3w =t Jhie
@ gengad
(3) F—haﬁmﬁﬁ
(4) JEEAAH ..

137, mﬁsﬁ%wﬁwm%?
(1) ﬁémé@mﬁm
(2) S IE
(3) TETS I
(4) ﬁﬁwwﬁqaﬂ%w

- 138, t{rﬁ'@mﬁﬁ%m%
(1) SeaTesh 9 avER

(2) aﬁmwa@rﬁ%wﬁ
(3), WA qA S
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(4) IS, m\ﬂwam | o i

| 133.

The Wildlife Protection Act was
passed in

(1) 1972 A.D.

(2) 1962 A.D.

(3) 1960 A.D.

(4) 1975 A.D.

Solar radiation per unit area received
at the outer limit of atmosphere is
known as |
(1) Solar constant
(2) Solar energy
(3) Insolation

(4) Heat budget

Fundamental duties are adopted from
 which country s Constitution ?

t (1), USA
i 12 Un1ted ngdom- '

(3) Germany

B 1) USSR

. Most B1od1ver51ty is found in

(1) 4S‘11e‘n‘t, Valley
(2) Sufma’ Valley

e (3) Flowers Valley
i jﬂ—) Dorang Valley -

What i's 'notj true for LPG ?

" " (1) Bum with blue flame

(2) High calorific value
3) A clean fuel
{#) Methane emitting’

.. The components of the ecosystem are.

(1)
A2)
(3)
(4)

Producers and consumers .
Biotic and abiotic substance
Plants and animals

Producers, consumers and.
decomposers ' )

AU PT.0
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(1) 235 s (2) 23

o

23% (4) 23°S
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(1) Sf. FsH
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(3) ST R, . e
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(1) Sfamyg

(2) wrETE

(38) wmERTET

(4) SITRER T HiERR S

FATGHST 1 TGE T St gt F T qrg ¥
(1) weadsa

(2) &

(3) THAIHSS

(4) SMIAHSA

I 668 g Sttt iy qig
Torar o

(1) 16 37=FE, 1990
(2) 10 fegm=r, 1980

(3) 117, 1972
~ (4) 11 R, 2002
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qaleTu EeET # wEe R 7

(1) @tferep Susr el fre <) Aeft

(2) T BTSH G TR
(3) Rfemedt
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140.

141.

142,

143.

144,

139. Tropic of Capricorn is

1° 1°

= 23= N
. (1) 232 S (2) 5
43] 23% (4) 23°S

140. Who coined the term “ecosystem” ? :
(1) Dr. Odum
(2) Dr. A. G. Tansley

43} Dr. R. D. Mishra

(4) Dr. Wittaker

141. Inafood chain of grassland ecosystem,

the top consumers are

(1) Bacteria

(2) Carnivorous

(3) Herbivorous

{4y Either carnivorous and
Herbivorous

The main atmospheric layer near the
surface of earth is

(1) Mesosphere
A2) Troposphere

(3) Stratosphere

(4) Ionosphere

142.

143. The Biodiversity Act was passed by the

Indian Parliament

(1) 16" October, 1990
(2) 10t December, 1980
{3) 11 May, 1972

(4) 11" December, 2002

Which one of the following agriculture

practices is eco-friendly ? :

(1) Cultivation of high yielding
varieties

(2) Growing plants in glass house

A3} Shifting cultivation

144.

(4) Organic farming

28
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145,

146.
147.

148.

1'149.

P wwwrg@% W@"‘

| 180.

Acid rain is concerned with presence of
(1) Acetic acid

(2) Sulphuric acid

(3] Hydrochloric acid

(4) Boric acid

WWEF stands for
A1) World Wildlife Fund
(2) World War Fund

(3) World Wide Fund
(4) World Watch Fund

The valley of flowers is located in
(¥ Sikkim

(2) Himanchal Pradesh

(3) Jammu-Kashmir

(4) Uttarakhand

Which of the following agencies

is primarily concerned with the
measurement of pollution in India ?
(1) Central Water Commission

(2) Central Pollution Control Board
3) Green Tribunal

(4) Survey of India

‘Cotopaxi’ is an active volcano
situated in

(1) Andes
(2) Hawaii
13T Sicily
(4) Rockies

Tsangpo river of Tibet in India is
known as

{1} Brahmaputra (2) Yamuna
(3) Ganga (4) Indus

[ P.T.O.



